Router-Ausgang

(W [ip.addr == 192.168.81.138

No. Time Source Destination Protocol  Length Info
91 @.351743 192.168.81.138 192.168.77.18 ICHP 74 Echo (ping) request id=@x@eel, seq=59/15184, ttl=127 (reply in 92)

¥ 92 .351976 192.168.77.18 192.168.81.138 ICHP 74 Eche (ping) reply  id=8x@@81, seq=59/15184, tt1=128 (request in 91)

! 229 @.828555 192.168.81.138 192.168.77.20 DNS 76 Standard query 8x596a A ds.kaspersky.com
349 1,358693 192.168.81.138 192.168.77.18 ICMP 74 Echo (ping) request id-@x@8el, seq-6@/15360, ttl=127 (reply in 358)

‘ 350 1.358918 192.168.77.18 192.168.81.138 ICHP 74 Echo (ping) reply  id=exeeel, seq=6@/15368, ttl=128 (request in 349)

! 573 1.822@389 192.168.81.138 192.168.77.18 DNS 76 Standard query @x596a A ds.kaspersky.com

Server-Anschluss

| |ip.addr == 192.168.81}0/24

Mo. Time Source Destination Protocol  Length Info

—+ 1493 9.619914 192.168.81.138 192.168.77.18 TCHP 74 Echo (ping) request id=8x88@1, seq=33/8448, tt1=127 (reply in 1494)

< 1494 9.620018 192.168.77.18 192.168.81.138 TCHP 74 Echo (ping) reply  id=8x@8@1, seq=33/8448, tt1=128 (request in 1493)
1787 18.637072 192.168.81.138 192.168.77.18 ICMP 74 Echo (ping) request id=8x@eel, seq=34/8784, ttl=127 (reply in 17@8)
1788 18.637178 192.168.77.18 192.168.81.138 ICMP 74 Echo (ping) reply id=axe@el, seq=34/3784, ttl=128 (request in 1787)
1764 11.666124 192.168.81.138 192.168.77.18 ICMP 74 Echo (ping)} request id=8x@88@1, seq=35/896@, ttl=127 (reply in 1765)
1765 11.666236 192.168.77.18 192.168.81.138 ICMP 74 Echo (ping) reply id=8x088l, seq=35/896@8, ttl=128 (request in 1764)
1814 12.683787 192.168.81.138 192.168.77.18 ICHP 74 Echo (ping) request id=-@xeeel, seq=36/9216, ttl=127 (reply in 1815)

L 1815 12.683767 192.168.77.18 192.168.81.138 ICHP 74 Echo (ping) reply  id=8x@e@@l, seq=36/9216, ttl=128 (request in 1814)




